N of associated (recoToSim) looper tracks vs normalized X’

0 2 4 6 8 1012 14 16 18 20

track x?

berset

recoToSim) tracks vs normalized x?

[{

0

2l

18

16

10 12 14

8

6

4

track x2

[N o associated

normalized x? |

ck vs

[N of reco tra

track x2

v2_prelimwpP

syoel axey

") <
o =

) ~
o o
=1 =

92 4 6 8 10 12 14 16 18 20

0.95f -

10 12 14 16 18 20

8

track x2
CKF_TTbase

CKF_TT _retrainOldFiles125

DQM
DQM_

syoel ani

o e
2 2
syoesf

~
o
-

BTG

N of reco track vs.

syoen

5}



	Contents
	Page 1


